LRR

BAF

0.8

0.4

0.0

Scan 280 — Chromosome 1 - SYNJ1 R219Q GO03

! ! ! !
50 100 150 200

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

250

50 100 150 200

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

1.0

0.5

0.0

Scan 280 — Chromosome 2 — SYNJ1 R219Q GO03

T T T T T
100 150 200

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

250

100 150 200

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

OMNEOTNFDORETNH . ONH COH ANHORRD — N O-63-6AN—NCD. — =M — 0D E-a\M
F PO IS i esHORN (MO9S LOXARONS~

250



BAF

Scan 280 — Chromosome 3 - SYNJ1 R219Q GO03

0 50 100 150 200

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

M.ﬂmm nMﬁ-‘M&M
mmw 'mm

0 50 100 150 200

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

CROLMMN <t SESFOTANHHR T S 00 O O RRHCRMDTYITIOR-H—OGAD SELADOEN(O (XKODN00 O
CQANOIN AN ANONOOOTINNRE HHHHF%—HMMW\KW\INWNNN\[W\IN
QOAD O 0O0OADOMO O O O O OIST Mool I00 GiD0o O O OOo0Cmo O

Il 11N I NENenw




LRR

BAF

1.0

0.2 0.6

-0.2

Scan 280 — Chromosome 4 — SYNJ1 R219Q GO03

50 100 150

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

50 100 150

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

0.2 0.6 1.0

-0.2

Scan 280 - Chromosome 5 - SYNJ1 R219Q GO03

0 50 100 150

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

.

0 50 100 150

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

DTN MN8N M N N MM M M

mmmmwvmmm—e—u — caNIMI SIS <t Lﬂx—lrlrbCKNOO o O e NI <t LOLOLO
A A A A ] R A A QAN AN ONONOOO) OO ON ONoNn
00O O 0000 OO0 T o000 U T oo O T TTDOTocoTOToo T oo

W4
[ )
Y




Scan 280 — Chromosome 6 — SYNJ1 R219Q GO03
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Scan 280 — Chromosome 8 - SYNJ1 R219Q GO03
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Scan 280 — Chromosome 9 - SYNJ1 R219Q GO03
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